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 LSE-02  

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June,  2022 

 

LIFE SCIENCE 

LSE-02 : ECOLOGY 

Time : 2 hours Maximum Marks : 50 

Note :  Question no. 1 is compulsory. Attempt any  

four questions from questions no. 2 to 7.  

  

1. (a) Fill in the blanks with the appropriate 

words :  51=5 

(i) The definition of ecology for the first 

time was provided by _________.  

(ii) In an ecosystem, the heterotrophs are 

broadly categorized as _________.  

(iii) The zone of vegetation separating two 

different types of communities is 

called _________.  

(iv) Primates have 5 digits on each limb 

with at least _________ digit(s) 

opposite to the rest.  

(v) Waste heat from an industrial plant is 

classified as _________ pollution.  
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(b) State whether the following statements are 

True (T) or False (F) : 6
2

1
=3 

(i) The Clouded Leopard of Himalayas is 

classified as depleted species.  

(ii) Natality is the ability of a population 

to increase.  

(iii) The phosphorus cycle in Nature is 

totally sedimentary.  

(iv) The content of dissolved salts in 

brackish water is more than 35 parts 

per thousand.  

(v) Availability of Molybdenum increases 

with lower pH of the soil.  

(vi) A detritus food chain always begins in 

the ocean.  

(c) Define the following : 21=2 

(i) Specific Heat  

(ii) Nitrification  

2. (a) Discuss the consequences of Air Pollution 

on health of human beings.  5 

(b) Define Community. Explain the 

relationship of community with concept of 

an ecosystem. 5 
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3. (a) How do plants adapt to water stress ? 5 

(b) Describe the key characteristics of a lake 

ecosystem.  5 

4. Explain the process of succession on a bare rock. 10 

5. (a) Define Urbanization. How does it cause 

environmental degradation ? 5 

(b) What is ‘‘biogeochemical cycling’’ ? Briefly 

describe phosphorus cycle in nature.  5 

6. (a) Describe the causes of desertification.  5 

(b) Describe the composition and stratification 

of Earth’s atmosphere.  5 

7. Write notes on any two of the following : 25=10 

(a) Capillary Water  

(b) Pyramid of Biomass  

(c) Habitat and Niche  

(d) Indeterminate Species  
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 Eb.Eg.B©.-02  

{dkmZ ñZmVH$ (~r.Eg gr.) 

gÌm§V narjm 

OyZ,  2022 

 

Ord {dkmZ 

Eb.Eg.B©.-02 : nm[apñW{VH$s 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> : àíZ g§. 1 A{Zdm`© h¡ & àíZ g§. 2 go  7 _| go {H$Ýht  
Mma àíZm| Ho$ CÎma Xr{OE &  

1. (H$) [aº$ ñWmZm| H$mo Cn ẁº$ eãXm| go ^[aE : 51=5 

(i) nm[apñW{VH$s H$s n[a^mfm g~go nhbo 
_________ Zo Xr Wr & 

(ii) {H$gr nm[aV§Ì _|, nanmo{fVm| H$mo ì`mnH$ ê$n 
go _________ Ho$ ê$n _| dJuH¥$V {H$`m 
OmVm h¡ & 

(iii) Xmo {^Þ àH$ma Ho$ g_wXm`m| H$mo n¥WH²$ H$aZo 
dmbm dZñn{V`m| H$m joÌ _________ 

H$hbmVm h¡ &  

(iv) àmB_oQ>m| _| àË`oH$ nmX _| nm±M C±J{b`m± hmoVr 
h¢, {OZ_| go H$_-go-H$_ _________ 

C±J{b`m± eof Ho$ gå_wI hmoVr h¢ & 

(v) {H$gr Am¡Úmo{JH$ g§`§Ì go {ZH$bZo dmbo 
An{eï> Vmn H$mo _________ àXÿfU Ho$ ê$n 
_| dJuH¥$V {H$`m OmVm h¡ &  
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(I) ~VmBE {H$ {ZåZ{b{IV H$WZ gË` (g)  h¢ `m 

AgË` (A) : 6
2

1
=3 

(i) {h_mb` Ho$ ŠbmCS>oS> b¡nS>© (V|XþE) H$mo 
Adj{`V àOm{V Ho$ ê$n _| dJuH¥$V {H$`m 
J`m h¡ & 

(ii) OÝ_-Xa g_{ï> H$s d¥{Õ H$aZo H$s j_Vm h¡ & 

(iii) àH¥${V _| \$m°ñ\$moag MH«$ nyU©V… AdgmXr 
hmoVm h¡ &  

(iv) Imao nmZr _| Kwbo hþE bdUm| H$s _mÌm 35 ^mJ 
à{V hOma go A{YH$ hmoVr h¡ &  

(v) _¥Xm H$m pH H$_ hmoZo na _m°{bãS>oZ_ H$s 
CnbãYVm ~‹T> OmVr h¡ &  

(vi) S>oQ´>rQ>g/AnaX ImÚ ûm¥§Ibm gX¡d _hmgmJam| 
go Ama§^ hmoVr h¡ &  

(J) {ZåZ{b{IV H$mo n[a^m{fV H$s{OE : 21=2 

(i) {d{eï> Vmn  

(ii) ZmBQ´>rH$aU 

2. (H$) _Zwî`m| Ho$ ñdmñÏ` na dm`w àXÿfU Ho$ à^mdm| H$s 
MMm© H$s{OE & 5 

(I) g_wXm` H$mo n[a^m{fV H$s{OE & nm[aV§Ì H$s 

g§H$ënZm H$mo g_wXm` Ho$ g§~§Y _| g_PmBE &  5 
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3. (H$) nmXn Ob VZmd Ho$ {bE {H$g àH$ma AZwHy$bZ H$aVo 
h¢ ? 5 

(I) Prb nm[aV§Ì H$s _w»` {deofVmAm| H$m dU©Z  
H$s{OE & 5 

4. EH$ Imbr e¡b na AZwH«$_U H$s à{H«$`m H$mo g_PmBE & 10 

5. (H$) eharH$aU H$mo n[a^m{fV H$s{OE & Bggo {H$g àH$ma 
n`m©daUr` {ZåZrH$aU hmoVm h¡ ? 5 

(I) ‘‘O¡d- ŷ-amgm`{ZH$ MH«$U’’ Š`m h¡ ? àH¥${V _| 
\$m°ñ\$moag MH«$ H$m g§{jßV dU©Z H$s{OE & 5 

6. (H$) _éñWbrH$aU Ho$ H$maUm| H$m dU©Z H$s{OE & 5 

(I) n¥Ïdr Ho$ dm ẁ_§S>b Ho$ g§KQ>Z Am¡a ñVaU H$m dU©Z 
H$s{OE & 5 

7. {ZåZ{b{IV _| go {H$Ýht Xmo  na {Q>ßn{U`m± {b{IE : 25=10 

(H$) Ho${eH$m Ob 

(I) Ord_mÌm {na¡{_S> 

(J) Amdmg Ed§ {ZHo$V 

(K) A{ZYm©[aV àOm{V  


